Bangladesh Krishi Bank Officers Recruitment Test (29.06.2007)
Conducted by BRC
Total time : 3 hours

Part one (MCQs) Time one hour

01. Which one of the following is correct?
a. This is the tallest tree I have never seen  b. This tall tree | have never seen
c. This is the tallest tree I have ever seen d. This tall tree | have ever seen
e. This is the tallest tree [ have not yet seen
02. Which one of the following is correct?
a. We discussed on the matter b. We discussed about the matter
¢. We discussed with the matter d. We discussed in this matter
e. We discussed this matter
03. Mother said to me, "l saw him." Which one is indirect form of this?
a. Mother said to me that I saw him b. Mother said to me that I have seen him
c. Mother told me that | saw him d. Mother told me that she have see him
¢. Mother told me that she had seen him
04." Which one'of the following is not the function of an insurance company?

a. Deposit collection b. Savingsmobilization c. Loan sanction
d. Credit control e. Capital formation
05. In which Asian country in recent days, the separatist rebels have attacked its capital city?
a. Indonesia b. Somalia c.Myanmar d. Sri Lanka e. Laos
06. Who was the top scorer in the FIFA World cup 2006?
a. Hernan Crespoo b. Miraslov Mose c¢. Ronaldo
d. Carlos Moya e. Mai-at Safm

[Rezz 2010 w3 (53-8 T 4T 3> giR) FIFA World cup (19" FIFA) Saf#s zra v wifyan]
07. Which team won the FA Cup 2007?

a. Chelsea b. Manchester United ¢. Liverpool

d. Leeds United = e. Watford .
[FA cup 5 “The Football Association Challenge cup”. 2010 it F4 cup Final ==t
¥ 9 15-3 May Wembley Stadium, London-4]
08.  In which year has the Money Loan Court been made effective?

a. 2001 b. 2002 c. 2003 d. 2004 e. 2005
09. In which year was the Money Laundering Prevention Act (MLPA) initiated?

a. 2000 b. 2001 c. 2002 d. 2003 e. 2004
10.  IBRD is the name of the —. :

a. IMF b. Worl¢ Bank c. ADB d. IDB e. UNDP

[[BRD = The International Bank for Recenstruction and Development]
11. Rezwan's grade has improved, but only -

a. in a small amount b. very slightly ¢. minimum

d. some e. bad
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He failed in the examination because none of his answers was  to questions asked
for :

a. pertinent(#RoTS - 7@ [ @fif#s) b, referenced ¢c. elusive

d. omniscience e. implacable

The country that you cannot travel with your Bangladeshi passport is--

a. Taiwan b. Libya ¢. Israel d. North Korea e. Malta
Who has been awarded Nobel Peace Prize in 20097

a. Dr. Mahathir Mohammad b. Dr. Mohammed Yunus

c. Barac Hussain Obama d. Bill Clinton e. Nelsen Mendela

The sum of three digits x, y and z is 12. What is the largest 3-digit number that can be
found using each of the digits exactly once?

a. 912 921 ¢. 930 d. 1092 e/ 1290
The average mark obtained by 10 students was 6 and the average mark obtained by 6
students was 10. What is the average mark obtained by ail 16 students?

ad lnag b. 8 Gl d. 8.5 e 6.5

If the product of 3 consecutive integers is 120, the sum of the integers -

arlz b. 14 c. 15 d. 18 e. 20
Current Presidentiof the Palestinian Autherity Mr. MahmudAbbasis also known as :
a. Abu A'la b.#Abu Mazen ¢. Nabil Shath

d. Hanan Ashrawi e. Saed.Erakat

Whe is the administrative Head of [AEA?

a. Mohammed Elbaradi b, Mchamrried Kabir

c. Mohammed Hossain d' George Bush e. Yatkiva Amano

[IAEA s International Alomic-Energwdgency. It is a United Nations Nuclear watchdog]
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The'€hief of the European Union Eeteign Policy is .

a. GordomBrown  b. Richard Armitage ¢t Catherine Ashton
d. Paul Brink ¢. Charles Angels

Net income will result during a time period when s

a. Assets cxceed liabilities b. Assets exceed revenues

c. Expenses exceed revenues d. Revenues exceed expenses

e. Cash inflows exceed cash outflows

A person cannot be a director of a joint stock company except if he/she is

a. Insane declared by the court b. Case of bankruptev under process

c. Minor d. A natural person e. Not a buyer of shares of the company
The Memorandum of a company does not contain the following particular -

a. Name of the company b. Area of operations

c.”Appointments of board of directors

d. Amount of share capital e. Liability of shareholders

Disposable personal income basically measures —

a. Household spending b. All monetary payments of workers

¢. The amount of money households have for spending after contractual obligation
d. Compensation to employees minus income tax deduction
e. The difference between personal income and personal taxes
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Stock Exchanges of Dhaka and Chittagong were established respectively in

a. 1972 and 1998 b. 1955 and 1994 c. 1954 and 1995
d. 1976 and 1999 e. 1956 and 1996

Stock dividend is distributed among -

a. Preference shareholders b. Debenture holders

c. Common shareholders d. Directors e. Employees

Who was the only Bangladeshi cricket player featuring in the first one-day match of the
Afro-asia Cup held recently?

a. Md. Ashraful b. Md. Rafiqg ¢. Mashrafe Mortaza

d, Tarnim Igbal e. Abdur Razzaq

Shilpa Shetty, the famous Bollywoaod actor, has taken part in the recent UK TV reality
show titled as :

a. Believe it or Not b. Fear Factor c. The Apprentice
d. Big Brother e. The Indian

Against which.nenstest=playing team had Bangladesh cricket team won a World Cup
match.in 20077

a.dreland _b.Canada . Kenya d. Scotland e. Bermuda

A parking garage rents parking spaces for Tk. 10 per week or Tk. 30 per menth. How
much dog§'a persen savein a year byithe Wmonth rather thamby thesweek?

[¢]

a. Tk 140 b. Tk. 160 c.¥k. 220 d. Tk. 240 = te4260
If y =8aadx andai=3 themy =

al4 br2y CitY d. 51 e. 219
Of the following, whichiis'the best approximation to J0.0026 2

a. 0.05 b. 0.06 c.0:16 dMt5 el 016

How much-interest'will Tk 1000 earn in one year at an annual interest rate of 8% if
interest'rate is compounded eyery” 6 months?

a. 824 b82.0 c.081.6 d.80.6 e. 81.4

A man travels a certain distance al a rate of 20 miles an heur and returns at the rate of
30 miles an houriWhat is'the averagespeed?

a. 24 b*2s o oo dv26 e%26.5
A book sells for Tk. 65. This price gives the seller a profit of 30% on his cost. What
will be the new selling price if he cuts his profit to 10% of its costs?

a. 45 b. 40 C..55 d. 50 €. 60
Holding a firm or its officers responsible when a product causes injury, death or
damage refersto__ .

a. Product safety law b. Product liability c. Product standardization
d. Product safety standard e. Product liability and safety

What percentages have been maintained by banks as reserve requirements, both CRR
and SLR respectively? TP

a.4.5.13.5 b.4, 14 . 5,43 d: 315,445 1eu 551 12.5

[ Note : CRR = Cash Reserve Ratio; SLR = Statutory Liquidity Ratio]

Within the last five years, foreign remittance sent by Bangladeshi living abroad became
a. doubled b. unchanged c. tripled  d. quadrupled e. more than tripled
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What type of monetary policy has been pursued by Bangladesh Bank recently?

a. expansionary b. too expansionary c. restrictive

d. quite restrictive e. moderate

If 6 —4x <14 then -

a.x<2 brviz2 c.x<-2 d.x>-2 el
The net increase in owners' equity resulting from business operations is called -

a. expense b. earnings per share c. net income

d. revenue e. retained earnings

The payment of liability will -

a. increase both assets and liabilities b. decrease assets and decrease liabilities

c. increase assets and decrease liabilities d. decrease assets and increase liabilities

e. decrease owners equity and increase assets

The young man was quickly promoted when his employers saw how  he was.

a. Indigent(wm)  b. Indifferent c. Assiduous(afT)  d. Lethargic e.Unmoved
Which oneof the sentencessis.correct?

a. I'had better not be late b. I had better not to be late

¢. 1 had not better be late d. I had better being late

f. F'had been better late

When did the Islamic Banking'system emerge in Bangladesh?

a. 1987 b. 1983 c. 1985 d. 1984 e 1976
Life insuranee policy provides
a. Risk reduction b. Investment protection ¢. Indemnification

d. Indemnification and Tax Rebate e Investment protection and Indemnification

[ @3 Compion /basic legal principleof L1 is : (1) indemnity (2) Insurable interest
(3)Utmost good faith (4) Contribution (5) Subrogation (6) Proximate cause

If fourtriangles are constructed with sides of the length indicated below, which of the
following triangles will not be a right triangle?

e D b8 15,12 c. 12, 15918 d.3,4,5 e.9 40 4l
The average age of 6 boys of a team led by Karim is 8.5 and if Karim is dropped the
average age of the remaining boys will be 7.2. What is the age of Karim?

a. 7.8 b. 10.8 c. 12.0 d. 15 €. 8.5

I x gt : T Loy, : .
If ‘2’ of the trust fund is invested in the stock of BOC, 718 invested in Beximco

| { 1
debenture,g in [CB mutual Fund and the rest Tk. 100,000 in Defense Bond, what was

the size of the fund?

a. 10.00,000 b. 16,00.000 ¢. 20,00.000 d. 25,00,000 e. 27.50.000
Addis Ababa is the Capital City of

a. Romania b. Uruguay c. South Africa  d. Ethiopia e. New Zealand
Find out the wrong one.

a. Australian is known for Cricket b. Brazil is known for Football

¢. China is known for Table Tennis d. India is known for Hockey

e. USA is known for Volleyball
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represents a firm's ability to convert its internal resources to cash quickly.

a. Liquidity b. Transferability ¢. Discounting

d. Factoring e. Cash Flow

Stock prices usually go down during

a. bearish markets b. bullish markets c¢. oversold markets

d. inflationary markets e. bull markets

Find the correct sentence

a. | know to doing it b. I know to do it how ¢. | know how to do it
d. I know how to doing it e. | know how to does it

A synonym for "hindrance' is

a. solution b. barrier c. answer d. criticism €. opportunity

In a group of people solicited by a charity, 30% contributed Tk. 40 each, 45%
contributed Tk. 20 each and the rest contributed Tk. 12 each. What percentage of the
total contributed came from people who gave Tk. 4o.

a.25% b. 30% c. 40% d. 45% e. 50%
35% of Tahia's income is equal to 25% of Noria's income. The ratio of their income is
2.7 8 b. 423 cid: 7 d. 5 3 e 3:4
A studentfirst reduced a numberiby 20% and then increased it again by 20%. If the
difference between the two new figures was 8, then the original number was .

a. 200 b.250 c. 300 d. 450 e. 400
Choose the appropriate preposition to complete the sentence:

Who willaccount_ the loss?

asat b. of c. by d. for e. about

Insert_the following joming word that logically connects the two thoughts in the
sentence:

Joy likes to gossip about other people, he doesn't like them to gossip about him.
a. and b. but c. for d. so e. yet

[Sentence-fod 2-F wedl 2 730w / Rordte w7 fmse 7@ hut Tewe]

61.

Find the correct sentence

a. The furniture is my, but the car is hers.
b. The furniture is mine, but the car is her's
c. The furniture is my, but the car is hers
d. The furniture is mine, but the car is hers
e. The furniture is my, but the car is her's

[hers ST her furniture]

62.

63.

Had I known in advance, I _enough money.

a. would take b. took ¢. will take

d. would have taken e. wanted to take

'At a loss' means —

a. Incurring loss in business b. Being puzzled c¢. Missing something

d. Finding no trace e. Death of somebody
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The individual's preference for possession of a given amount of cash now, rather than
the same at some future time is called

a. Liquidity preference b. Time preference
¢. Individual preference d. Current preference e. Cash preference
Who is the only US president received the Nobel Peace Prize?
a. Bill Clinton b. Ronald Regan  c¢. Abraham Linclon
e. Jimmy Carter e. Richard Nixen

=)
Ifa= % b=,x Z‘é .the valueof y=a-3b+ l6xis

C

a. “]7§ b.'—; ¢ % d. | e.grf'
East and West Germany were united in the year — .
a. 1980 b. 1970 c. 1990 d. 1960 e. 1950
The preferential trade arrangements among the SAARC countries are known as_
a. SAFFA b. SAPTFA c. SARTA d. SFTA e. SATPA
Tite MFA that regulated world trade in textile and clothing phased outin___.
a. Dec 2004 b. June 2004 c. June 2005 d. Jan 2005 e. June 2000

In the year 2007, under the 'development support credit' program Bangladesh will
receive ereditfrom

a. IMF b. ADB c. World Bank

¢. Bangladesh Banke. 1LO

The first NAM summit was held in

a. Belgrade b. Havana c. New Delhi d. Jakarta e. Cairo
Of the fellowing which.is greater?

1 7 49 126 199
a.5 b. 7% ¢ 700 d.m € 200
If the present value of Tk. 1330.10 in three years time is Tk. 100, the rate of interest is -
a. 9% b. 10% c. 11% d_ 12 e. 13%
The eost of making x units is ¥ = 5x + 10, the average cost of making 10 units is
a. Tk. 5 b. Tk. 6 c. Tik. 7 d. Tk. 8 eflkig

If 4 is subtracted from one-fourth of a number, the result is 20. Which of the following
is the number?

a. 12 b. 24 c. 36 d. 48 e. 96
The difference between two numbers is 7 and their product is 60, then one of the two
numbers must be — .

a. 4 b5 c. 6 d.7 (o i
Choose the word opposite in the meaning of "Magnanimous'.

a. small b. selfish c. naive d. generous e, worthy
While you — in the garden, someone arrived at the house.

a. were working  b. had worked c. work

d. will work e. will be working '

We suspected our cashier— stealing the funds.

a.or b. of c. with d. off e. off
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Part Two : Descriptive Questions( 2 hours)
Answers have to be written in the given space

Bengali : Focused Writing

1. g g g sidsiEfee S 98 e aa e fes B 15
2. BUEDR SRS Qe & 6 avemel aizd s AnE e sef e s 10
3. SR SR PR TR AR GG ST SR B G A e | 10
Mathenatics : (6 questions) 5
marks each

4." A trader has two kinds of wheat grains — one that he purchased for $ 20 per sack, and the
other for $ 12.5 per sack. How many sacksof the cheaper wheat should he mic in 50 sacks
of the expensive wheat, so that the mixture yields a 33.33% profit when sold at $20 per
sack?

5. If Jewel gives Ali Tk..5-and"Ali gives Farid Tk. 2, the three boys will have the same
amount of money. How much more money did Jewel originally have than Ali?

6. The combined price.of a TV and a refrigerator is Tk. 60,000. if the price of the TV is
reduced by 5% and that of the refrigerator is increased by 7.5%. the total price remains the
same. What are the prices of each of them separately?

7. A man runs diagonally across from one comer to the opposite of a 80 x 60 meters
rectangular field in a straight line at a speed of 9 meter per second. Find the time taken by
him to complete the run.

8. A good has been sold at a loss of 12%. If it could be sold for Tk. 1000 more, there would
have been a profit of 8%. What is the cost price of that good?

9. A school garden measuring 10 meters by 12 meters has a 0.5 meter wide path outside the
perimeter of the garden. Find area covered by the path.

English : Language, Communication and Focused Writing

10.  Write an essay on 'Anti-corruption Campaign in Bangladesh', 15
I1. Compose a dialogue between two friends on how to ensure that the government

agriculture subsidies reach farmers for boosting agriculture production. 10
554
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12.  Write a precis of the following text with title : 5

The recently announced proposed budget for the fiscal year 2007-08 has been receiving both
appreciation and criticism. Most of those who have appreciated the budget have described it
as a major challenge for the government to mange funds successfully for implementing the
annual development programme.

Indeed it is a challenge for the government. At least, the market situation clearly indicates
how big a challenge it is for the government. Soon after the announcement of the proposed
budget, it has become visible that the market is not performing properly. Some quarters have
already raised the prices of those items on which increased import duty has been proposed. At
the same time, there is no change in prices of those items on which lowering or withdrawal of
import tariff has been proposed.

We experienced this type of confusing situation during the periods of political governments.
As they were unwilling to control this.kind of situation, we the people, particularly the poor
class, suffered most. Now the governance situation has changed. It has proposed to increase
and reduce taxes considering the needs of the time and set the target of seven percent
economic growth.,

So the government should strengthen its"wigilance capacity to check the quarters, which are
still active to embarrass:it.

13.7 Write a paragraph on 'Nobel Peace Prize and Grameen Bank'. 5

Bangladesh Krishi Bank
Officers Recruitment Test (29.06.2007)-3 syt

Part one

0l.(c) 02.() 03.() O04.(d) 05(d) 06.(b) 07.(2) 08i(c) 09.(c) 10.(b)
1. (bR W) 18 ifc) 14.(c¢) 5. (c) H6%(cIN &1 XS 18.(b) 19. (e) " 20.(c)
21.(a)) 22.(d) 23/ 24 (e} 25:(c) "\ 26.(c) ' 27.(a)  '28.(d) 29.(e)30.(b)
3istc)” 32.4a) 33. (@) 34. (a) 3o:(e) 36, ()N () 38.(e) 39.(c) 40.(d)
41.(d) 42.(b) 43.(c) 44.(a) 45.(b) 46.(c) 47.(c) 48.(d) 49.(c) 50.(d)
Sic(dy 52.(a) 53. (a) 54. (c) 35:AB)56:(e) 1 3Te(d) 58.(a) 59.(d) 60.(b)
61.(d) 62.(d) 63.(b) 64.(b) 65.(e) 66.(b) 67.(c) 68.(b) 69.(a) 70.(c)
70.(c) 7l.(@) 72.(d) 73.(c) 74.0) 75.() 7T6.(b) 77.(d) 78.(@) 79.(b)
80.(c) 81.(d) 82.(c) 83.(a) 84.(e) 85.(c) 86.(b) 87.(a) 88.(d) 89.(e)
90.(b) 91.(c) 92.(a) 93.(b) 94.(d) .95.(e) 96.(a) 97.(d) 98.(b) 99.(c)
100. (b)

Part Two
04. 100 sacks 05. 8 Taka
06. Tk. 36,000 & Tk. 24,000

07. %sec 08. Tk. 5,000 09. 23 square meter
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